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General instructions 
• There is a 'Cool off time' of 15 minutes in addition to the writing time of 2 ½ hours. 
• Use the 'cool off time' to get familiar with questions and to plan your answers. 
• Read the questions carefully before answering. 
• Calculations, figures and graphs should be shown in the answer sheet itself 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except nonprogrammable calculators are not allowed in the Examination Hall. 
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ffi10 OJ cm c\ 06 ~ cruo 8..1 cmm cru r2l OJ Ocfu c\ 6ffi3u8 @cfuO s ;i c006mo . 
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n.D0~1ro8 g2n.J~WO(l)1cOOOCW n.JOS1~. 

Answer all the questions from 1 - 8 1 III~@~ 8 ClJ6)(l)<DJ~~ rajJ~p C:.!1...l:JB~6lffiC/3cl)6)~o ~am» 

Cl> 6)111Y,~ Cl))~ cfb. 

1. 

2. 

3. 

4. 

The term experiment is derived from the 

Latin word....................... . (1) 
1. nq)cfum'5n.J1@1@rllClf nq)cm n.JBo ............ nq)cm 

Which one of the following is a true 2. 

statement. (1) 
a) Logic is a positive science. 

b) Logic is a descriptive science. 

c) Logic is a natural science. 

d) Logic is a normative science. 

Which term is distributed in the 3. 

proposition 'Some vegetables are not 

fresh'. (1) 
If A is True, 0 is ................... (1) 4. 

1 

8.JOglcm n.JB(ID())lmi\ mlcm6rll06fO g2611sOCQJ<m. (1) 
(O)O@!l' @aho s 6 (ID()) 1@1c006 cm Ln.J m'5 ill)'.) ru mah~ 1 m3 

nfilill)'.)6Tl) (1()@1? (1) 
a) Logic is a positive science. 

b) Logic is a descriptive science. 

c) Logic is a natural science. 

d) Logic is a normative science. 

'Some vegetables are not fresh' nfilcm 

proposition @8..1 cwlm'5cs16lll~l~ @.!1...lc:rn(0)1@1 

c006cm n.JB<lirll<m? 

A I n© cm cm (I() Cl) 1 CQ) '.) 6) 6TTHfu 1 m3 

••••••••••••• ~CQJ1@1c0060. 

(1) 

0 nq)cm<m 

(1) 



5. 

6. 

Which postulate of Induction states that 5. 
the same cause will produce the same 
effect under similar circumstances? (1) 

If A is B, then C is D. 
Ais B 
:. C is D 
Identify the mixed 
represented above. 

syllogism 
(1) 

6. 

7. The increase of poverty in society shows 

8. 

a corresponding increase in crime. This 7. 
is an example for J.S. Mill's 
.......................... Method. (1) 

Name the linking word between the 8. 
subject and predicate. (1) 

Paper Code No.: 3 3 
63 a:0 cfu:)06m6ID3u3 6)cfu:)6ITT 63 a:0 n.O e.J6ID3u3 63 <li 0 

cru o n0 !l..l 0 .,\ <Om) 1 m3 22 611s o c0, @ \½:I s 6 cm 6 n© cm 
Ln.Jm'5<morulc006cm <lin.J0~6a:e.ig 63:)n.0 2!2®CW 

cfu'l:1 ® nm cmo6f0? 

(1) 
If A is B, then C is D. 
Ais B 
:. C is D 
a:0m8 cru4!1..ll \½::11~ 0lcfu cruM crula:~_p@allcruo 

nfil@<m@ cml0l~olCDJ6c0J. (1) 

cru04n0<0m)lmi\ B001LB_,\o ructlrmlc006oa:cmoo60 c0,6g 

cfu~<m_,\6ID3~6o ructlrmlc006cm6 nq)cm<m J.S. Mill's 
@CTR ............... 6)(l}(li<Om)(U)1CD g2BOn006TT)(l}:)6fO. 

(1) 
cru6DJ@alcfu sl@mCDJ 60 Ln.JCWla:c00gl@mCDJ6 o <m0lllm3 

6lllrn.D1\½:Jlc006cm n.JB<Om)l@CTR <lin.J@0!l'J<mJcfu. ( 1) 

Answer all the questions from 9 - 15 9 III~@~ 15 ClJ6)0<DJ~~ rajJ~p C:!l..l:JCl.,\iilmC/3cl)6)~o 

~ am» 0 6) III Y' ~CID~ cfb. 

9. Write the missing letters. (2) 9. 
DKY, FJW, HIU, JHS, .................... ? 

10. Classify the following proposition as 10. 
relational and general. (2) 
a. Kasthurba is the wife of Mahatma 

Gandhiji 
b. All Asians are Indians. 

11. Write the converse of the following 11. 
proposition. 
All philosophers are rational. (2) 

12. Derive a valid conclusion from the 12. 
premises given below. (2) 
All mathematicians are logicians. 
Sreenivasa Ramanuja is a 
mathematician. 
.............................................................. ? 

2 

cmcm 10 l c00 6 cm a: L(l()6m 1 CDJ l@e.i (l3Tc) s 6 <Om) <BTc)cfu'l:1 

0lcfu0o nfil<m? (2) 
DKY, FJW, HIU, JHS, .................... ? 

<mo@!l' cmcml 0lc006 cm @Ln.JO<li\½:JOcrulo'l:1m6c0,@~ 

ol a: e.i n'l:16mm3 nq)cm 6 o @al mom3 nq)cm 6 o <m0o<ml 

0l@~!l'J<mJcfu. (2) 
a. Kasthurba is the wife of Mahatma 

Gandhiji. 
b. All Asians are Indians. 

<mo@ !l' cmcml 01c006 cm @Ln.J o a: \½:JO crul n'l:1@CTR 

c0,6TT8a:ructl m'5 n© !l'J cm 6c0,. 

All philosophers are rational. (2) 

<mo@!l' cmcml0lc006cm @Ln.J0lcru6c0,~lm8 mlcm6o 

(I() 01 CDJ o CDJ m 1 (I) 0 ffi(OT(j) 1 a: e.i c0@ n© <Om) 6 cfu. (2) 
All mathematicians are logicians. 
Sreenivasa Ramanuja is a 
mathematician . 
. . ............................................................ ? 



Paper Code No.: 33 
13. Write the characteristics of scientific 13. cruCDJCTRln.0lah @6rucruc3a:run'l:1@CTR cruJ@)ru crurul 

observation. (2) 

14. Distinguish between Deduction and 14. 
Induction. (2) 

15. According to Aristotle there are four 15. 
causes. They are efficient, formal, 
material and final. Can you identify the 
efficient and material cause of the table 
in your study room. (2) 

(2) 

cw 1 CWcfu'l:1 m 6 o 2!2® CWcfu'l:1 m 6 o n© @CTID@ <m 00 

cml0l@~!l'6cm6c0,. (2) 

<BTc) (1) 1 a: ~ o 31 e.n @1 (l3Tc) rs 1 c n.J o CQ) (ID()) 1 mil nID n.01 

o'l:1.,\ClRV, a:n.00@0©8, @0g101CDJm3, 6)@n.Omm3 

nfilCTn16GB@m moe'i c0,006m6GB~J6ITT. m16ID3~6@s 

n.JO m 06 ol CDJl@eJ a:0(1() CDJ 6@s n© n.01 n'l:1.,\ ORV 

a:c0,ocru60 @0g101CDJm3 a:c0,ocru60 nfil@<m@ cml0l 

~ol@6TITTID!l'6cm6c0,. (2) 

Answer any four questions from 16 to 20. 
16 IIl~(l))~ 20 (l.J(j)(()<DJ~~ C:-'1...1:)Cl.,\iilm~l~ mlcm aj}(j)(l)) 

m, 1~~ o m:J(j)~611Jam»lcn ~am»06)111w~ (l))~cfb. 

16. Creighton defines Logic as "a science 16. 
that deals with the operations of human 
mind in its search for Truth". 
Name the operations of mind 
mentioned here. (3) 

17. Reduce the given sentences into logical 17. 
form. ~ 

a) Every student attended the exam well. 
b) Only capital letters are visible. 
c) Indians are mostly literates. 

18. Write any six characteristic features of 18. 
science. (3) 

19. Find out the obverted converse of the 19. 
following. (3) 
Some scientists are intelligent. 

20. Give an account of any three Laws of 20. 
Thought. (3) 

3 

Creighton a:e.1o@allc00l@m 2I2Ln.Jc0Jo00 mlc3ru 

-~-flc006cm6 - "a science that deals with the 
operations of human mind in its search 
for Truth". 2I2<mlm8 cru4!l .. fl\½:J1~10lc006cm 00m 

cru 1c0,ru.,\run0006ID3u3 nfil@<mo@c00 n©@ n© !l'J 

<mJcfu. (3) 
cmcml0lc006cm ruo!l..lcfu6ID3@~ logical form 
<lie.JcOO !l..lJ0Jc001 nq)!l'J<mJcfu. (3) 
a) Every student attended the exam well. 
b) Only capital letters are visible. 
c) Indians are mostly literates. 

cru CQ) cm cru 1@1 nfil@<m ffi, 1 eJ 6 0 ~ () cru QJ 1 a: (I() o'l:1 

<mcfuu3 nq)!l'J<mJcfu. (3) 

Some scientists are intelligent. nfilCTn 

cm1@1 obverted converse nfil!l'J<mJcfu. 

(3) 
nfil@<mffille.J6o 04@ !l..llCTIDomlCDJ06GB@~c006ol~ 

rul(l()B1cfu01c006cfu. (3) 



Answer any four questions from 21 to 25. 

Paper Code No.: 33 
21 111~@~ 25 (l.J(j)@<DJ~~ C:.!1...1:JB~iilm~l~ mlcm~o 

aj16) CID ffi> 1 ~~ o ITT :J 6) ~ 611Jam>l 1 ITT ~ am» Cl> 6) IIIY' ~CID~ cfb. 

21. 

22. 

Complete the flow-chart. (4) 
21. 

Draw square of opposition and explain 
22. 

PHILOSOPHY 

cmo@!l' cmcml0lc006cm n.J31c0, n.J4ctlq;Q0oc006c0,.(4) 

(f\)cfuJCQJ@ 63:)n.0 63<li\½:JOcrulo'l:1® QJ0~ @Ln.JO<li\½:JO 

I a) ................................... I EPISTEMOLOGY If) .................................... I 
(What is real) (e) ................................. ) (What is value) 

I 
LOGIC 

Ontology b ................. . 
I 

Ethics . ................ . 
I 

le) ................... I d ................ . 
( Correct reasoning) I 

lh) .................. I Beauty 

23. 

the relation of opposition between 
propositions. (4) 

Seeing the sky as blue and rope as 
snake are the examples for mal -
observation. Identify the types of mal­
observation occurred in the above two 
instances (4) 

23. 

24. Explain the steps of scientific induction. 24. 
(4) 

25. Concomitant variation is one of the 25. 
method of J.S. Mill to find out the cause 
of a phenomenon. List out the other four 
methods. (4) 

cru 1 n'l:1 m 6 c0, u3 cm (2)(2) 1 e.i 6 glli 63 a: \½:Io cru 1 n'l:1 m m3 

6llJrn.Do rul(l()B0oc006c0,. (4) 

~ cfu:) (l()o ITT, eJ ITT 1 O(ID()) 1 m3 c0,:)6TT)6) \½:JS 6 cm cm 6 0 

cfuCQJOl@m n.JOCTlJOCQJl cfu06mJ cmcm6o 0om8 

63 6l1J cru al a: ru n'l:1 m 22 B o n0 0 6m 6ID3 gp Gm . 

a: 0m8 \½:J06TITTID 22 Bo n0 06m 6ID3 ~ l@e.i 06ITT cm 00 

0om8 636rucructla:run'l:1m6c0,CJ3 cml0l~,j0lCQJ6c0,. ( 4) 

@@cru11n.0lcfu 2I2®CUk0:&1@1 rulrulw ne..i36ID3 

@~cOOJOl~ rul(l()B00c00Jcfu. (4) 

63 0 6 Ln.J cm 1 rso cru (ID()) 1@1 c0, o 0 6m@ (ID()) c0, @611s 

(ID()):)@ @@il.nq)(fl)~ 0lm822n.J (liCQ):) (1)1~ 630J 

6) (l} {li(ID(j) CU) ~ 6TT) {lic6,:)6l7'0 (licfu:) (l} 1 g1v {li QJ (() 1 {li CQ) 

o'l:1®. (l3Tc) a:g ru)(ID(j) 1@1 0m mo eJ 6 6) (2) (li(ID(j) (U) 6 

c0,CJ3 nffi@cm~po.? (4) 

Write any two questions from 26 to 28. 
26. All soldiers are brave. 

26 111~@~ 28 (l.J(j)@<DJ~~ C:.!1...1:JB~iilm~l~ mlcm~o 

(5) aj16)(l))ffi> 1~~ o (l)6)~611Jam»lcn ~am>)(l)6)111Y,~ (l))~cfb. 

Kabeer is a soldier. 
:. Kabeer is brave. 
Find out the - Major term, Minor term, 
Middle term, figure and Mood from the 
above given syllogism 

4 

26. All soldiers are brave. (5) 
Kabeer is a soldier. 

:. Kabeer is brave. 
a:0m8 cmcml 01 c006cm crula: ~o @ill cru (ID())l@e.i 

Major term, Minor term, Middle term, 
figure, Mood nq)cmlru cfu@611s(ID())l@CQJ!l'Jcm6c0,. 



27. Write a short note on the merits of 27. 
experiment over observation. (5) 

28. Write any five utilities of Logic in our 28. 
daily life. (5) 

Answer all the questions from 29-30. 
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63 6l)J cru c3 a: QJ o'l:16) m (l3Tc) a: nJ c0:i'l::fl ~ n© cfu Cf\) nJ 1 (1) 1 

@01lmJglli (l)J6m6GB@~c006ol~ 6306 cfuJOlij 

cm~OOOcOOJcfu. (5) 

mlcm_,\@al1rulcm(ID())lmi\ g2n.Ja:CDJO(l)lc006cm a:eio@all 

c06) 1@1 nm 6) cm ffi, 1 eJ 6 0 (l3Tc) 6lIDJ 22 nJ a: CQJ:) (I) 6(ffi u3 

n©~~~ ~ 

(1)6)111Y,~ Cl))~ cfb. 

29. Find the distribution of terms in AEIO 29. CDJ 4~o6@s cruc3c001u3 g2n.Ja:CDJo(l)l~ AEIO 
propositions with the help of Euler's 
circle. (6) 

30. Construct a flow chart showing the 30. 
divisions of Mixed Syllogism. (6) 

@Ln.JO<li\½:Jocrulo'l:1m6c0,~l@e.1 n.JB6ID3~6@s (terms) 
cwlcrucsl6lll.,\lo'l:1® ruloo01c0,0lc006c0,. (6) 

01 cfu cru cu5 cru 1 a:~ O@all cru(ID()) 1@1 ru 1 rs o (I) 6GB@ ~ 

cfu:)6mlcOOJCTn n.{]<li~:) !l.J:)@~ cm~OOOcOOJcfu. (6) 

Answer any one of the questions from 31 - 31 111~@~ 32 ClJ(j)(()<DJ~~ C:!l..l:JB.,\iilm~l~ aj](j)@ffi>l~~o 

3 2. l'i3 6) (1) 611JClmD 1 ITT ~ am» (1) 6) IIIY' ~CID~ cfb. 

31. Explain the Traditional and Modern 31. 
classification of proposition with 
examples. (8) 

32. State and explain the Rules and 32. 
Fallacies of Syllogism. (8) 

5 

Ln.J o a: \½:JO cru 1 n'l:1@1 nJ 0cru 00 (I) cm ru6 o ~ w 6 m 1 c0, 

OJJ00CQJ ru@cts1cfu06m@(ID())c00J01~ g2BOn006m 

(8) 

crula:~o@all cru(ID())1@1 mlCDJ 06GB@~c006 ol.~60 

n.0oe.1crulc0,@~c006ol.~60 ruloo00oc006c0,. (8) 



HSE-I Set - I 

Philosophy 
Scoring indicators with score 

Qn. Scoring Indicators Score Total 
No. Score 
1. Experimentum 1 1 
2. (d) Logic is a Normative science 1 1 
3. not fresh 1 1 
4. False 1 1 
5. Uniformity of nature 1 1 
6. Hypothetical mixed syllogism 1 1 
7. Concomitant variation 1 1 
8. Copula 1 1 
9. LGQ 2 2 
10. a. relational 1 

2 
b. general 1 

11. Some rational beings are philosophers 2 2 
12. Srinivasa Ramanuja is a Logician 2 2 
13. Purposeful, selective, objective, instrumentation ½x4 2 
14. General to particular - Deduction 1 

2 
Particular to general - Induction 1 

15. Efficient cause - Carpenter 1 
2 

Material cause : Wood 1 
16. Conception 1 

Judgment 1 3 
Reasoning 1 

17. All students attended the exam well. 1 
All capital letters are visible. 1 3 
Some Indians are literates. 1 

18. Any six features - It employs scientific method / It is the study of facts. ½x6 
Scientific principles are universal/ scientific law's validity can be 
verified any time I science searches for cause - effect relationship / 3 
science, relies on verifiable, measurable and valid evidences. 

19. Some intelligent beings are not non scientists 3 
3 

20. 1. Law of identity. 1 
Everything is identical / If anything is A it is A 

2. Law of contradiction 1 
A thing cannot both exist and non exist at the same time. 

3 
3. The Law of Excluded Middle. 1 

Everything must be either true or false. 
or 

The Law of sufficient reason - Everything must have a cause. 



21. a) Metaphysics ½ 
b) Cosmology ½ 
c) study of being ½ 
d) study of world ½ 

4 
e) what is knowledge ½ 
f) Axiology ½ 
g) Aesthetics ½ 
h) Character ½ 

22. A 
Contrary 

E 
C 

01)/; 
I"~ 

O'tc-t, 
o'Y 

Sub-altern 
'\.od 

Sub-altern 
4 ?fl_; 

~~ 
(_.0~ 

4 
I 0 

Sub-Contrary 

23. Universal mal - observation 2x2 
4 

Individual mal - observation 
24. - Observation of facts lx4 

- Formation of hypothesis 
4 

- Verification of hypothesis 
- Proving the hypothesis 

25. 4 Methods of J. S. Mill lx4 4 
26. Major term brave 1 

Minor term Kabir 1 
Middle term soldier 1 
Figure: s 1 5 

1 

27. - Variation of facts 1¼ 
- Time saving 1¼ 

5 
- Chance for repetitions and modifications 1¼ 
- Rapid and sure progress 1¼ 

28. Any five utilities 5 5 
29. Euler's circle 6 

A 
E I 0 

p 

0 00 ® ® 
6 



30. Divisions of Mixed Syllogism (Flow chart) 
- Hypothetical & Divisions 2 

6 - Disjunctive & Divisions 2 
- Dilemma & Divisions 2 

31. Traditional classification & Examples 4 
8 

Modern classification & Examples 4 
32. Eight rules of syllogism & Fallacies 8 8 




